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MODEL TEST ONE

Model Test One

Part ] Listening Comprehension (20 minutes)

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be
asked about what was said. Both the conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices marked A, B, C and D, and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Example: You will hear:
You will read:
A. At the office.
B. In the waiting room.
C. At the airport.
D. In a restaurant.
From the conversation we know that the two were talking about some work they have to finish in the evening. This is
most likely to have taken place at the office. Therefore, A. “At the office” is the best answer. You should choose
answer [ A] on the Answer Sheet and mark it with a single line through the centre.
Sample Answer [A| [B] [C] [D]

1. A. Worked at the office. B. Went to the airport.
C. Telephoned his sister, D. Repaired his car.
2. A. By plane. B. By bus.
C. By train. D. By car.
3. A. Spanish. B. Arabic.
C. Japanese. D. Chinese.
4. A. At an airport. B. At a bank.
C. At a hotel. D. At a drug store.
5. A. 10:30. B. 9:30.
C. 9:50. D. 9:45.
6. A. Looking for water. B. Planting something.
C. Looking for something. D. Getting dirty.
7. A. The one the woman bought yesterday.
B. The man’s.
C. Both the man’s and Jack’s.
D. Jack’s.
8. A. He tummed down the pumps.
B. His business is funded.
C. He doesn’t have enough money .
D. He does not like them.
9. A. Because it’s bad for his health.
B. Because it’s a bad example to the children.
C. Because it makes him smell .
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D. Because it makes him cough.

10. A. The train is crowded. B. The train is late.
C. The train is empty. D». The train is on time.

Section B Spot Dictation
Directions: In this section you will hear a passage three times. During the first reading, vou should listen carefully
for a general idea of the whole passage. Then listen to the passage again. In the second reading, you should fill in the
missing words at each blank during the pause. Finally, when the passage is read the third time you can check what
you have written.

[ had spent my last day in London visiting friends, taking pictures, and doing some last-minute shopping.
11, I had bought some presents: a shirt for my brother, 12 for my sister, and a battery-powered alarm
clock for my father.

After travelling in a crowded bus and _ 13, I was glad to be sitting in the plane at last. In a few minutes

now we would be asked to 14 and 1o stop smoking, and then we would 15  on our flight to Berlin.

But I had been mistaken. Ten minutes later, 16 of the evening sky from high above the clouds, 1 was
17 with an airline official and a police officer at my side. On the table in front of me was one of my suitcases.

The officials were very polite. They asked me to 18 , my ticket, and my baggage check. Then I was
requested to open the suitcase and to 19 on the table.

[ did as I was told. The moment [ 20 , the two officials looked at each other and smiled.

Hearing the clock ticking away merrily, [ suddenly understood. Someone must have heard the ticking noise

coming from my suitcase and thought there was a time bomb hidden in it.
Part I Reading Comprehension (35 minutes)

Directions: There are four passages in this part. Each passage is followed by some questions or unfinished state-
ments. For each of them there are four choices marked A, B, C and D. You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a single line through the centre.

Questions 21 to 25 are based on the following passage:

The National Trust in Britain, together with similar voluntary organizations, plays an increasingly important part
in the preservation for public enjoyment of the best that is left unspoiled of the British countryside. Although the Trust
has received practical and moral support from the Government, il is not a rich Government development, supported
by public taxes. It is a voluntary association of people who care for the unspoilt countryside and the ancient sites and
historic buildings of Britain and who seek to preserve them for its permanent enjoyment of the public. It is a charity
which depends for its existence on voluntary support from members of the public. The Trust has 160 000 members in
England, Wales and Northern Ireland who pays a small subscription (AA$83K) each year, and its primary duty is to
protect for the nation places of great natural beauty and places of historical interest and preserve them from the dangers
of modemn development and extinction.

The attention of the public was first drawn to the dangers threatening the great old houses and castles of Britain
by the late Lord Lothian, who in 1935 said that, as a result of taxation and estate duties, most of these ancient and
historic houses were under sentence of death. When Lord Lothian died he left his great seventeenth-century house,
Blickling Hall, and all its contents to the Trusi together with the 4.500 acre park and estate surrounding it. This gift
attracted wide publicity and Blickling Hall started the Trust’s “Country House Scheme™. Under this scheme, with

the cooperation of the Government and thanks to the generosity of the general public, the Trust has been able to save

and make accessible to the public about one hundred and fifty of these old houses, together with their often very

valuable contents. Wherever possible the Trust seeks to maintain conlinuity and to preserve these houses as living
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entities (ZSE{A) rather than as dead museums. It is the view of the Trust that the families who gave them to the
nation and whose ancestors created them make the best possible curators (B FE# ). Last year about one and three
quarters of a million people paid to visit these historic houses which are open to the general public, usually at a very
small charge.

In addition to country houses and open spaces the Trust now owns some examples of ancient wind and water
mills, nature reserves, gardens, Roman antiquities (3% ), five hundred and forty farms and nearly two thousand
five hundred cottages or small village houses, as well as some complete villages like Chiddingstone in Kent, in the
southeast of England. In these villages no one is allowed to build, develop or disturb the old village environment in
any way and all the houses are maintained in their original sixteenth-century style. Over four hundred thousand acres
of coastline, woodland, open downland and hill country are protected by the Trust and no development, modem
buildings or disturbances of any kind are permitted. The public has free access to these areas and is only asked to
respect the peace, beauty and wildlife.

So it is that over the past eighty years the Trust has become a big and important organization and an essential and
respected part of national life, preserving all that is of great natural beauty and of historical significance not only for
future generations of Britons but also for the millions of tourists who each year invade Britain in search of a great his-
toric and cultural heritage.

21. The National Trust is

A. a government department

B. a charity

C. a group of areas of great natural beauty

D. an organization supported by public taxes
22. “Most of these ancient and historic houses were under sentence of death” means

A. the historic houses would die because no one was interested in them any more

B. the historic houses would crumble and decay through lack of money to keep them in good repair

C. the government said that it could not spend the money to save the old historic houses

D. the owners of historic houses would not keep them in good repair
23. The “Country House Scheme” started

A. with the founding of the National Trust

B. in order to raise money for the National Trust

C. with the gift of Blickling Hall and its estates

D. as a result of public interest
24 . The best people to look after these houses were considered to be

A. the ancestors who created them

B. the members of the National Trust

C. the general public

D. the families who gave them to the nation
25. The word “invade” in the last paragraph is used to emphasize

A. that the British do not like tourists

B. that only a few tourists come to Britain

C. the great number of tourists who come to Britain

D. that Britain is attacked by hoards of tourists
Questions 26 to 30 are based on the following passage:

The long years of food shortage in this country have suddenly given way to apparent abundance. Stores and shops

3
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are choked with food. Rationing is virtually suspended, and overseas suppliers have been asked to hold back
deliveries. Yet, instead of joy, there is wide-spread uneasiness and confusion. Why do food prices keep on rising,
when there seems to be so much more food about? Is the abundance only temporary, or has it come to stay? Does it
mean that we need to think less now about producing more food at home? No one knows what to expect.

The recent growth of export surpluses on the world food market has certainly been unexpectedly great, partly be-

cause a strange sequence of two successful grain harvests in North America is now being followed by a third. Most of

Britain’s overseas suppliers of meat, too, are offering more this year and home production has also risen.

But the effect of all this on the food situation in this country has been made worse by a simultaneous rise in food
prices, due chiefly to the gradual cutting down of government support for food. The shops are overstocked with food
not only because there is more food available, but also because people, frightened by high prices, are buying less of
it.

Moreover, the rise in domestic prices has come at a time when world prices have begun to fall, with the result

that imported food, with the exception of grain, is often cheaper than the home-produced variety. And now grain

prices, too, are falling. Consumers are beginning to ask why they should not be enabled to benefit from this trend.

The significance of these developments is not lost on farmers. The older generation has seen it all happen before.
Despite the present price and market guarantees, farmers fear they are about to be squeezed between cheap food im-
ports and a shrinking home market. Present production is running at 51 percent above pre-war levels, and the
government has called for an expansion to 60 percent by 1956; but repeated ministerial advice is carrying little weight
and the expansion programme is not working very well.
26. Why is there “wide-spread uneasiness and confusion” about the food situation in Britain?

A. The abundant food supply is not expected to last.

B. Britain is importing less food.

C. Despite the abundance, food prices keep rising.

D. Britain will cut back on its production of food.
27. The decrease in world food prices was a result of

A. a sharp fall in the purchasing power of the consumers

B. a sharp fall in the cost of food production

C. the overproduction of food in the food-importing countries

D. the overproduction on the part of main food-exporting countries
28. The main reason for the rise in food prices is that

A. people are buying less food

B. the government is providing less support for agriculture

C. domestic food production has decreased

D. imported food is driving prices higher
29. Why didn’t the government’s expansion programme work very well?

A. Because the farmers were uncertain about the financial support the government guaranteed.

B. Because the farmers were uncertain about the benefits of expanding production.

C. Because the farmers were uncertain whether foreign markets could be found for their product.

D. Because the older generation of farmers were strongly against the programme.
30. What did the future look like for Britain’s food production at the time this article was written?

A. The fall in world food prices would benefit British food producers.

B. An expansion of food production was at hand.

C. British food producers would receive more government financial support.
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D. It looked depressing despite government guarantees.
Questions 31 to 35 are based on the following passage:

In 1971 there were about 3 700 million people in the world. If the population were distributed evenly over the
earth’s land surface there would be about 50 people to the square mile; but there are vast areas of desert and mountain
and tropical forest which have almost no inhabitants, while at the other extreme, in the great cities millions may live
within a few square miles. Much of the world’s population is concentrated on only a small fraction of the earth’s land
surface, in the rich valleys and plains, because people up to the present time have tended to crowd in places where
the climate and soil make it easy to grow food and obtain shelter.

A growing world population and the discoveries of science may alter this pattern of distribution in the future. As
men slowly leam to master diseases, control floods, and stop wars, fewer people die every year; and in consequence
the population of the world is steadily increasing. In 1925 there were about 2 000 million people in the world; by the
end of the century there may well be over 5 000 million.

When numbers rise, the extra mouths must be fed, new lands must be brought under cultivation, or land already
farmed made to yield larger crops. In some areas the usable land is so intensively cultivated that it will be difficult to
make it provide more food. In some areas the population is so dense that the land is divided into units too tiny to allow

for much improvement in farming methods. Were a large part of this farming population drawn off into industrial occu-

pations, the land might be farmed much more productively by modern methods.

There is now a race for science, technology, and industry to keep the output of food nsing faster than the num-
ber of people to be fed. New types of crops are being developed which will grow better in unfavourable climates: there
are now farms beyond the Arctic Circle in Siberia and North America. Irrigation and dry-farming methods bring un-
used lands under the plough. dams hold back the waters of great rivers to ensure water for the fields in all seasons and
to provide electric power for new industries; industrial chemistry provides fertilizers to suit particular soils. Every year
some new means is devised to increase the food of the world.

Easier and quicker communications have helped men to carry food to the parts of the world where it is most
needed. Britain, for example, nowadays grows only enough food for about half of her 50 million people; the rest is
imported from all over the world, in exchange for many kinds of manufactured goods .

31. According to this passage, the main reason why the world’s population is unevenly distributed is that ____

A. people prefer to live where ii is easy to live

B. there are only about 50 people to the square mile

C. the population is growing very rapidly

D. most people prefer to stay in towns
32. The author says that in densely populated areas the land might be more productively farmed if .

A. the areas were subdivided

B. a great number of fanmers became workers in cities and towns

C. industrial methods were used in farming

D. the units of land were made much larger

33. In Paragraph 4 we are told that there are now farms beyond the Arctic Circle. This has been made possible by

A. producing new kinds of crops
B. advanced farming methods
C. building dams
D. providing fertilizers
34. Britain is able to feed her population
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A. because the countryside grows more food than it needs

B. by exporting grain, fruit and meat

C. by importing food from nearby countries

D. by exchanging manufactured goods for food from all over the world

35. The writer seems to believe that

A. the world’s population will grow more slowly

B. it is likely that land divided into small pieces will give higher yields

C. the world will be able to provide enough food for its growing population

D. the situation of overpopulation can be improved by setting up better communications systems
Questions 36 to 40 are based on the following passage:

Many people who don’t pretend to know much about science go through life making statements of scientific fact
which they have never taken the trouble to verify. Remarks such as: “spinach (J3£) is good for you”; “if you
drop a piece of bread and butter, it always falls butter side down” etc. are accepted at face value, it being vaguely
assumed that such conclusions have been arrived at by experts whose knowledge in such matters cannot be challenged.
Nevertheless, scientists frequently prove each other wrong as more and more research is carried out and new theories
are put into practice.

In his book, Butter Side Up, Dr Magnus Pyke, the popular scientist and TV personality, examines some of
these generally accepted facts and, in the fluent, conversational style already familiar to us in his radio and TV talks,
asks a mumber of questions to which he provides some fascinating answers.

According to Dr Pyke, bread and butter does usually fall butter side down because the butter makes one side of
the slice heavier than the other and this affects the way in which it turns when it falls from a height. Spinach, he
says, does not contain any more vitamins than other green vegetables, and so is not necessarily any better for us. It
was only thought to be so before anyone took the trouble to analyse other vegetables. It does, of course, contain
calcium (£5)and iron, but so do a lot of other foods. Dr Pyke goes on to tell us that in fact spinach also contains ox-
alic acid (®f&) which combines with the calcium and iron and prevents our bodies from benefiting from the spinach
when we've eaten it.

Among the questions that Dr Pyke sets out to answer are many that we asked ourselves as children: why is the

sky blue? Why are clouds the shapes they are? Why can we see through a plate glass window and not through a brick

clockwise or anti-clock wise? His

wall when they are both made of sand? Which way does the bath water run out
explanations are clear and simple and the hook includes a number of amusing illustrations. The index supplies a ready
reference under such headings as “falling objects”, “bubbles”, “thunder”, which, as one glances through it, stimu-
lates the casual reader to tum to the page and find out what Dr Pyke has to say on the subject.

Much of the charm and interest in the book lies in its lack of superiority. He is immensely curious about every-
thing and as eager to find the answers as if he were dealing with the subject for the first time. No question appears to
him to be too silly to be discussed. The book is packed with information of a surprising kind. Do you know, for
instance, that there is a minute amount of gold in every glass of wine that you drink, or that rain actually smells? Per-

haps it is not important whether we know these things or not, but anyone who takes the trouble to read the book will

find himself irresistibly caught up in Dr Pyke’s enthusiasm for his subject, and, not least, sharing his sense of fun.

36. According to the text there are a lot of people who
A. like to pretend they know something about science
B. are uninterested in checking scientific facts
C. are incapable of checking scientific facts
D

. know more about science than they pretend




37.

38.

39.

40.
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It seems that the results of scientific research

A. are more often proved right than wrong

B. are seldom challenged by experts

C. often disprove previous theories

D. are never completely accurate

From the information given in the text, we learn that spinach

A. contains only calcium and iron

B. is unusually rich in vitamins

C. contains a hammful acid

D. is not particularly good for us

Dr Pyke’s approach to his work seems to show that he

A. is mainly interested in pointless questions

B. has no respect for other people’s opinions

C. finds all questions equally interesting

D. thinks he knows the answer to everything

Among the unexpected information in Dr Pyke’s book we discover that
A. wine contains a metallic substance

B. rain has an unpleasant smell

C. wine can be made from gold
D

. rain can be forecast by smell

Part I Vocabulary and Structure (20 minutes)

Direction: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A, B, C

and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer

Sheet with a single line through the centre.

41.

42.

43.

45.

46.

The _ estimate of grains in gross national product suggested a fast recovery from economic recession.
A. principal B. possible
C. primary D. preliminary
When we went to the zoo, we were so fascinated by the monkeys that we __ the other animals.
A. imagined B. generated
C. accompanied D. neglected
Fresh air and exercise ___ to good health.
A. contribute B. attribute
C. distribute D. stimulate
. You'll never _____ the goal of your ambition if you go on like this.
A. obtain B. attain
C. retain D. maintain
Even now the small town __ its ancient look, with the same old small house, a few shops and the narrow
street. '
A. contains B. retains
C. regains D. retail
To everyone’s ___ , the lost child was found safe and sound on the mountainside.
A. comfort B. sorrow




47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.
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C. relief D. amusement

We should do all we can to lessen intemational

7

A. sense tense

C. sentiment D. tension

I agree with him ____, but not entirely.

A. to some extent B. to some point

C. until a certain point D. in a certain extent
I didn’t go to the party, but [do wish I __ there.

A. was B. were

C. had been D. went

Only afier a year _______ to see the results of my experiment.

A. T began B. I had begun

C. have I begun D. did I begin

What you have done is ______ the doctor’s orders.

A. attached to B. responsible for

C. objected to D. contrary to

The journalist claimed that the information came froma __ source.

A. reliable B. suitable

C. liable D. indispensable

It is desirable that the application forms ___ back before the deadline.
A. must be sent B. would be sent

C. be sent D. were sent

The enemy troops rushed there only _

A. ambushing B. ambushed

C. to ambush D. to be ambushed
There have been other famous spiders. One is said _______ Scottish King to save his country centuries ago.
A. to inspire B. to be inspired

C. to be inspiring D. to have inspired
His success was due to __ he had been working hard.

A. that B. the fact which

C. the fact of D. the fact that

The reason why I plan to gois ___ if I don’t.

A. because she will disappoint

B. that she will be disappointed

C. because she will have been disappointed

D. for she will be disappointed

QOur living room is covered witha ____ carpet.

A. green beautiful Chinese B. Chinese beautiful green
C. beautiful green Chinese D. beautiful Chinese green
He acted bravely, impressed me most.

A. so that B. that

C. it D. which

. All matter, whether it gas, liquid or solid, is made up of atoms.
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A. be B. is
C. will be D. were
61. The heavy rain _______, we went on with our joumey and got there twenty minutes later.
A. was stopped B. stopping
C. having stopped D. being stopped
62. Advertising is distinguished from other forms of communication _ the advertiser pays for the message to be
delivered.
A. in that B. in which
C. in order that D. in the way
63. One of the attractive features of the course was the way the practical work had been _ with the theoretical
aspects of the subject.
A. embraced B. alternated
C. adjusted D. integrated
64. The teacher asked himto ~ his lateness for school.
A. account for B. account on
C. account about D. account of
65. What do you do with your old clothes when they are __ 7
A. worn out B. washed out
C. tom down D. tom up
66. Bartam _____ in doing it again though she had failed more than a dozen times.
A. consisted B. resisted
C. assisted D. persisted
67. It’s surprising that this innocent-looking person should have ____ such a crimes.
A. performed B. made
C. acted D. committed
68. The house is dark. The Browns _ to bed.
A. must go B. should go
C. should have gone D. must have gone
69. All _____is a continuous supply of food and clothes.
A. that is needed B. what is needed
C. the thing need D. for their needs
70. In some cases, different approached __ the same scientific problem lead to conflicting theories.
A at B. to
C. of D. for

Part IV Translation from English into Chinese (15 minutes)

Directions: In this part, there are five items which you should translate into Chinese, each item consisting of one or
two sentences. These sentences are all taken from the reading passages you have just read in the Second Part of the
Test Paper. You are allowed 15 minutes to do the translation. You can refer back to the passages so as to identify
their meanings in the context.

1. (Underlined Sentence, Para. 2, Passage 1)

Under this scheme, with the cooperation of the Government and thanks to the generosity of the general public, the
Trust has been able to save and make accessible to the public about one hundred and fifty of these old houses,




A¥RFOASLENE

together with their often very valuable contents.

2. (Underlined Sentence, Para. 2, Passage 2)
The recent growth of export surpluses on the world food market has certainly been unexpectedly great, partly because

a strange sequence of two successful grain harvests in North America is now being followed by a third.

3. (Underlined Sentence, Para. 4, Passage 2)
Moreover, the rise in domestic prices has come at a time when world prices have begun 1o fall, with the result that

imported food, with the exception of grain, is often cheaper than the home-produced variety.

4. (Underlined Sentence, Para. 3, Passage 3)
Were a large part of this farming population drawn off into industrial occupations, the land might be farmed much
more productively by modem methods .

5. (Underlined Sentence, Para. 5, Passage 4)
Perhaps it is not important whether we know these things or not, but anyone who takes the trouble to read the book
will find himself irresistibly caught up in Dr Pyke’s enthusiasm for his subject, and, not least, sharing his sense of

fun.

Part V Wiriting (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic Smoking. You should write
at least 100 words, and base your composition on the outline (given in Chinese) below:

1. A28 AZERIN;

2. RIHEIEE ;

3. AT R X A [ R
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MODEL TEST ONE

WBRERE (=)

Part | Listening Comprehension (20 points)

Section A (10 points)

1.A 2.D 3.A 4.D 5.C 66 B 7.D 8.C 9.B 10. B
Section B Spot Dictation (10 points)

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

Among other things

a woolen blanket

waiting in the noisy airport building
fasten our seat belts

soon be up in the sky

instead of enjoying the beauty
sitting in a smoke-filled room

show them my passport

spread out its contents

placed the alarm clock on the table

Part [ Reading Comprehension (40 points)

21.

22,

23.

25.

26.

27.

28,

29.

30.

(B) XEFH—BIRE T HRGEHES MBI RIA R ERESRIE, LE LI EZBUN W&
By, HESREAR—MREBYNAEFOBTIE, MR, ERKELS & A EHEZKM AR R A
AL, Bk B,

(B) AR R SCF R B — MR . PRI AARERRIRBEHEMLAAIELEE XL
HIEESAE (CLhEHE COs PO R B K 2 AR R ), BAEBL A YT 4 o) Wi 4E A K18, 3T
WWfER . ik, B HERERE.

(C) XEE TBRZNE B R B R Wy, JEA5 ] va AR B LA R — S R it 7= 1 AL HR ik 45 B K
RIEEEIN, HRHEZRAER, NTE3IT “SREFITR". Wi C.

(D) XEH_BERE R EERELERSVMER, RLBE DL XY KEA R B

FXEEE, X5 DHHNEBMEYE

(C) BB A AR BT ORI CRE S . O R — BB BIBEAILE TR RE
S ARSI, “invade” TEIX B —FPHMAEN, BRI T HEERSHEIL,
% C.

(C) NXEME—BRITTLUEL, RERLCEHME AR, BAEEBEE—HALZH
WA, FARMMMEE LT, AMTARE TS m Bt aER, NizRBI A,
I C 5 LEHNA

(D) SCGESH B —HiFEl: i FILRESIVEMRRFIR, EHHASTLTHE ORR AR
hn, T2 7 iR R A AR B TR

(B) BRIXFER ZBH—4H. BHMEN EKERH TEAERMNENGRERE, MX—Y
FEEHTHEFEHED N BV R mERn. Wik, B VEHRER.

(B) XERF—BHE =APE: RERYMIMRE LK, WETSBARE, ERRIMDARB.CH
SETERM A O M H 5 E A0 E N TSR R b sRAE, B, BT KAEP=H KA
I RES K

(D) AHUAHEWHRE. XERG—BRIFFR.:. REBFAXRIRIEERMNEATE, 58X
TR, Hi TARROFFREE, FIBUFR &L RBIFRIPATEIF AL, dital i, ZEK
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40,

A¥RAZOESLBRE

BAREFRIRIFALGIM. ik D,

(A) FEH M LB —BRE—ANER, MIEEEEREAESFEEE . DEERKT,
RoNTES B AR AR, AIESREBErZAE, LA BERESR.

(B) XEH=Bha—aprz] “WR—-REI A FR A A= N DTS Tl A7, AR
BUAT LUE S B 7 B K AR R AR 7 17 . BGE B.

(A) XEHMESE AP " AMEEMRH R, TUEAFSBETERBSY, Xk,
FEALHREZ M EER TR BB RG 7"

(D) XEEA—-HHE BEXEREAIA—FIEAANDRBESHRY, HRAKEYNED
3L dh A ESMED

(C) AW RAFE ML . NXEPRITTUEY, EE AN RBRERSER, RN EY5H
M, BEBMIIE, BOMABRAR LM, MREEEIHEEKRHAORSEEENEYH., B
I, CHEMER.

(B) ARBW KX XEHR B — . A2 AMBERRNZE D, NEAFEPRR X
THRFEHLWFE, MHTORE R EBUEX A2 R, ik B,

(C) BRXEE—BRfG—5], MEFRANE UM IELER, RERINEEESRIES
HEISRIHHRZ AL .

(D) XEF=BHE: #ERPTENEEREBGREPEE, WMERFIEWERS Sk
BE-ESFGR/RAERMBERE R OB FHit, DAIEBRER.

(C) XHEEJF—B—TFHis. ZENBENMET EASAAN—FERE TR, EEx—1]
HHERNNETC, BEIRAER, FRACEER KA EMIXMRE, EMEREM
(A AR EATHE R . B C 5 XEANEMF

(A) ZEREXESE-BEH LY, HFHBRIMNMIANEEETREEMENS . B, AXNE
HER.

Part [l Vocabulary and Structure (15 points)

4].

42.
43.

44.

45.

46.

47.

48.

49.

50.

51.

(D) preliminary #]2/), F¥4HY; principal EEK, BEER; primary (FETEIFE RIS L) #Ith
K, BEM,

(D) neglect 2B accompany I%‘Hé; generate fata

(A) BEEMREIEIE SR IRA, contribute to B T°; attribute sth. tosb. /sth. N NWEFBFEA /A
2. distribute 4+ %, #{A1; stimulate %,

(B) FERUE SR X 5, attain I5F] (HEY. BAR, #51); obtain BUE; retain F£FH; maintain fREE,
Hifr, 4%,

(B) retain f4F, R B ; 40: always retain youthful validity /K2 & {E 775 contain 15 ; regain W 9],
WE (R, FURSE); retall 6, T3,

(C) relief (Y . tLIE) WA, M—OR; XEERAIEEEREF LS, —RAENE, W: To
one’s joy; To one’s disappointment; To one’s astonishment.

(D) tension FEFKAVIRZS; sense B, EHRE; tense BIKA; sentiment et ,

(A) EEFMFERC, to some extent TERFREE |

(C) wish 55 that ABJIER], (BHEE that, NIEFRHAMENS, WA CREHAM A KATEE
LA BE, AWM T ARRETES L, FTLL wish fo B ] A 2 58 LAY o

(D) only fi FRIAEBFAEHN, AFHFEEFTER R, FHTX—HWHYIFESR: at no time, by
no means, rarely, hardly, scarcely, not until, seldom, little, never, nowhere, not often, no sooner *** than,
not only -+ but also, hardly -+ when %,

(D) contrary to 5----- MR, TEHREIBERIE, HREEEIBE. attach to 5+ HKEK; object to




